
√
Sin2d

Sin2 ( =Sinx

⑩
Isinl cos (- sin (= 0

瓦**"il in

Jiae弓 sinx ( 2 ωs 9( - 1 ) = 0

Sinl= 0 . lws( =王

: 、 { = {
0

(
sinzol-sinx り dilt{ ( sinx - sinzxldx

= よ - { C0s 2o ( toso
]
。 [-osx+ zos2っ 、]

= 5
,

"

d'aridy
V = 10

π yodil = π o
'

(etiy 'dx

元 : 5
。
le't 2e +1 ) dx

= [ zea " ezel en] 0
=

' tze -

3

; , U =
(
2 e - 3 ) π ,



⑪

T.
.

* "" ×

n siug( = wso(
Siax- coso( = 0

fan 1=
1

√Isin (x - π ) = 0

& =感{ { x - π= 0
. π
…

& = 煕 「 π
「
た
m

t



屮

ぬ匠
3
Tu

☆=S sinadx - 0s 'oido 、

惴
.

惴
L

トoS 2x HCOS 2x
2 2 π3

-
王= 五 [ λ- $sinrn ] 「 [ x ← 五sin 2っ 1]モ

8

。
:.



④
V = Sab πx 'dy

π,a

r.

.

V = -Siπxrdy :.元= S .ix'dy
し

Y= wSo1 より ?( にそろえる

{ y にそろえる
dy= - sinddou

→
I *

π→ o

: . 元 =
f

π

x? Gsinxldoe

= { oax
'
sine dos

σ
- cosx )

"

ここで
、 { o 'sinxdx

= x 2 (-cosx ) - f 2x. (- asx ) dx
=
- Rcosct 2 f x (sinx ) ' dx

= -cosxt 2 { x sinx - 5 Tsinx dx }



= -0 'cosxt 21 sinl t 20sx tC

i
. {oe x'sinxdix

= [-x' c ω s( + 2 xsinx + 20sx ] oa = π24

∴ U= π3 -4TVy

)0
“

x
'
siand dx

= [x[ -cosx]
。

π
- {

0

^

2x (- ose ) dx

= π
2

+ 250
^

x osx dx

=

π
2
+ 2 } [ xsiux ]0̂ -5 sux dx }
～⑤ L = 10√ 6t

(⑨ ( ady) dt24\
3- 3t

2

= 103～(6t )? + ( 3 - 3tr dt
= 103 √9- i8 t :: 954 dt
= 103st = p dt



= 10'3 ( 3 + 3t2 1 dt Vas = a X

= ( 0
↑3
( 3 + 3t

2 ) dt Vas = lal

= 6By

(参考 ) 瞬間部分積分

5 ÷ 5 .
T さ f?

f → f
'

Tfo Tf
3

9

( fixi = x
2 f

,
= 31x3 fa =

E

)

x
4

)f 1
= 2 x f

2
= 2

ffg = fg,-
f

' g . tfgo - fg4 …

fx'sinx dx
= x? (- wsx) - 2x (- sinx ) +2 (cos )

彡
= - 'os 1 +2 xsinx+ t 2 cosx + C

"


